## C.Collins

	Total # of Expense Attendees		ProRated Expense	
Meeting Expense Glendale Pub May 20, 2016	\$ 30.09	2	\$	15.05
Meeting Expense Woodward Restaurant September 22, 2016	\$ 34.12	4	\$	8.53
Meeting Expense Glendale Pub October 28, 2016	\$ 30.21	2	\$	15.11
Meeting Expense Glendale Pub December 18, 2016	\$ 102.15	8	\$	12.77
Meeting Expense Glendale Pub December 21, 2016	\$ 40.90	3	\$	13.63
Mileage January - December, 2016			\$	1,485.11
Total C. Collins			\$	1,550.19

## D. Conley

	E	Total # of Expense Attendees		roRated xpense
Paint the Town Red Dr. Bob Kemp Hospice May 4, 2016	\$	150.00	1	\$ 150.00
Citizen of the Year Award Dinner Stoney Creek Chamber of Commerce May 10, 2016	\$	62.15	1	\$ 62.15
Stoney Creek Annual General Meeting Stoney Creek September 8, 2016	\$	20.00	2	\$ 10.00
Cancer Assistance Program Gala Hamilton November 4, 2016	\$	65.00	1	\$ 65.00
Annual Holiday Gathering 2016 Stoney Creek Chamber of Commerce December 2016	\$	20.00	1	\$ 20.00
Total D. Conley				\$ 307.15

#### F. Eisenberger

	E	Total xpense	# of Attendees	oRated xpense
Meeting Expense Acclamation January 18, 2016	\$	59.65	3	\$ 19.88
Meeting Expense West Town January 27, 2016	\$	19.58	2	\$ 9.79
Meeting Expense Wimpy's Diner February 1, 2016	\$	25.16	2	\$ 12.58
Meeting Expense Radius February 1, 2016	\$	58.48	2	\$ 29.24
Meeting Expense Ottawa Int Airport HMS February 5, 2016	\$	9.03	1	\$ 9.03
Big City Mayor's Conference Ottawa				
February 3 - 4, 2016 Hotel	\$	393.40		\$ 393.40
20th Anniversary of the Rev. John C. Holland Awards Michelangelo Banquet February 6, 2016	\$	200.00	2	\$ 100.00
Meeting Expense The Royal Coachman February 8, 2016	\$	42.36	2	\$ 21.18
Meeting Expense La Piazza Allegra February 9, 2016	\$	83.74	2	\$ 41.87
Meeting Expense Incongnito February 10, 2016	\$	51.83	2	\$ 25.92
Meeting Expense Radius February 11, 2016	\$	61.46	2	\$ 30.73
31st Annual Bishop's Charity Dinner Dance Knights Of Columbus February 13, 2016	\$	120.00	2	\$ 60.00

Meeting Expense Lake Road February 24, 2016	\$ 45.43	2	\$ 22.72
Meeting Expense The Hamilton Club February 29, 2016	\$ 54.39	3	\$ 18.13
Women of Distinction Awards Evening Hamilton Convention Centre March 10, 2016	\$ 350.00	4	\$ 87.50
Meeting Expense La Spaghett April 19, 2016	\$ 36.92	2	\$ 18.46
Meeting Expense Chagalls April 25, 2016	\$ 43.42	2	\$ 21.71
Meeting Expense Brown Barrel April 26, 2016	\$ 19.21	1	\$ 19.21
Meeting Expense The Hamilton Club April 27, 2016	\$ 67.80	2	\$ 33.90
Mayor's Breakfast 2016 Liuna Station April 28, 2016	\$ 350.00	7	\$ 50.00
Meeting Expense Serve May 3, 2016	\$ 22.09	2	\$ 11.05
Hamilton Community Prayer Breakfast Liuna Station May 3, 2016	\$ 200.00	10	\$ 20.00
22nd Annual Lobster & Rib Fest Rotary Clubs of Dundas May 28, 2016	\$ 100.00	2	\$ 50.00
Meeting Expense Bread Bar May 31, 2016	\$ 34.33	2	\$ 17.17

Big City Mayor's Conference Winnipeg					
June 1 - 3, 2016	\$	773.46			
Flight Hotel	φ \$	424.30			
Per diem	φ \$	100.00			
Parking	\$	69.00		\$	1,366.76
i aikiig	Ψ	09.00		Ψ	1,300.70
Meeting Expense	\$	92.97	2	\$	46.49
Chagall					
June 9, 2016					
Meeting Expense	\$	83.54	2	\$	41.77
Wild Orchid					
June 10, 2016					
Mosting Evnance	\$	65.95	2	\$	22.00
Meeting Expense The Hamilton Club	Φ	00.90	Z	Φ	32.98
June 22, 2016					
Julie 22, 2010					
Visit Twinned regions in Italy					
Italy					
July 7 - 15, 2016					
Flight	\$	1,524.36			
Per diem	\$	419.20			
FedEx and customs for the gift	\$	236.12		\$	2,179.68
Canusa Mayor's Lunch	\$	392.35	8	\$	49.04
Sarcoa Restaurant					
August 6, 2016					
31st Annual BBQ Auction	\$	190.00	2	\$	95.00
The Rotary Club of Hamilton	Ψ	100.00	2	Ψ	00.00
August 19, 2016					
7 tagaot 10, 2010					
Meeting Expense	\$	25.03	2	\$	12.52
Steve's Open Kitchen					
August 24, 2016					
Meeting Expense	\$	100.12	3	\$	33.37
Radius	Ψ	.00112	· ·	Ψ	00.01
September 1, 2016					
•					
Smart Cities Conference					
Netherlands					
September 17 - 24, 2016					
Registration	\$	1,044.31			
Flight	\$	1,115.04			
Taxi	\$	131.05			
Hotel	\$	1,797.94			
Per diem	\$	393.26		\$	4,481.60

Meeting Expense Papa Leo's October 18, 2016	\$ 29.38	2	\$ 14.69
Redefining Hamilton Dinner Habitat of Humanity October 21, 2016	\$ 250.00	2	\$ 125.00
Meeting Expense Steve's Open Kitchen October 28, 2016	\$ 34.30	2	\$ 17.15
Meeting Expense Loft at the Sheraton November 3, 2016	\$ 40.51	2	\$ 20.26
Meeting Expense La Piazza November 10, 2016	\$ 50.68	2	\$ 25.34
Pearl Gala Interval House November 24, 2016	\$ 300.00	2	\$ 150.00
Young Artists of Hamilton Benefit Gala Liuna Station November 29, 2016	\$ 250.00	2	\$ 125.00
Meeting Expense La Piazza December 6, 2016	\$ 84.28	2	\$ 42.14
Total F. Eisenberger			\$ 9,982.23

## J. Farr

		Total Expense	# of Attendees	roRated xpense
Meeting Expenses Café Orange February 2, 2016	\$	10.93	1	\$ 10.93
Meeting Expenses Jet Café March 11, 2016	\$	11.63	1	\$ 11.63
Meeting Expenses Café Orange March 11, 2016	\$	7.25	1	\$ 7.25
Meeting Expenses Hamilton April 26, 2016	\$	28.95	1	\$ 28.95
FCM Convention Winnipeg June 2 - 5, 2016	Φ.	050.00		
Registration Flight	\$ \$	959.00 1,504.57		
Hotel	\$	398.30		
Per Diem	\$	165.00		
Taxi	\$	6.10		\$ 3,032.97
Meeting Expenses Mulberry Street Coffee House June 22, 2016	\$	3.65	1	\$ 3.65
Meeting Expenses Mezza Café October 7, 2016	\$	13.20	1	\$ 13.20
Total J. Farr				\$ 3,108.58

#### L. Ferguson

	E	Total xpense			roRated xpense
Meeting Expenses The Brassie Pub April 4, 2016	\$	75.18	4	\$	18.80
Meeting Expenses The Egg & I June 3, 2016	\$	27.99	2	\$	14.00
Staff Retirement Party The Waterfront Banquet June 21, 2016	\$	25.00	1	\$	25.00
Bay Area Economic Summit Hamilton June 21, 2016	\$	197.75	1	\$	197.75
Ancaster Dream Gardens Tour and Tea Private Gardens July 16, 2016	\$	40.00	2	\$	20.00
31st Annual BBQ Auction The Rotary Club of Hamilton AM August 19, 2016	\$	190.00	2	\$	95.00
"Scotch on the Rocks" Ancaster Society for the Performing Arts August 20, 2016	\$	240.00	4	\$	60.00
Meeting Expenses Cavallo Nero September 26, 2016	\$	221.73	8	\$	27.72
Staff Retirement Party The Waterfront Banquet October 19, 2016	\$	25.00	1	\$	25.00
City Manager's Breakfast Sheraton Hamilton Hotel October 25, 2016	\$	50.85	1	\$	50.85
Gallery of Distinction Michelangelo Centre November 15, 2016	\$	97.50	1	\$	97.50
Staff Retirement Party The Waterfront Banquet November 16, 2016	\$	30.00	1	\$	30.00

#### Appendix "B" to Report FCS 17015 Page 9 of 24

Meeting Expenses	\$ 51.98	2	\$ 25.99
Wilson Street Bar & Grill			
December 16, 2016			
Mileage January - December, 2016			\$ 82.30
Total L. Ferguson			\$ 769.89

## M. Green

	Total Expense				roRated xpense
January Community Brunch Jet Café January, 2016	\$	298.60	22	\$	13.57
February Community Brunch Wentworth Tavern February, 2016	\$	239.40	18	\$	13.30
20th Anniversary of the Rev. John C. Holland Awards Michelangelo Banquet February 6, 2016	\$	100.00	1	\$	100.00
March Community Brunch Good Life Deli March, 2016	\$	241.35	18	\$	13.41
Women of Distinction Awards Evening Hamilton Convention Centre March 10, 2016	\$	200.00	2	\$	100.00
April Community Brunch Germania Banquet Centre April, 2016	\$	460.80	36	\$	12.80
Meeting Expenses Bronzies Place April 3, 2016	\$	190.99	20	\$	9.55
May Community Brunch R Place Bar & Grill May, 2016	\$	266.00	20	\$	13.30
18th Annual Fundraiser Community Living Hamilton May, 2016	\$	25.00	1	\$	25.00
Music From The Big House The Art Gallery of Hamilton May 5, 2016	\$	70.00	2	\$	35.00
Women in the Lead Series Workshop Empower Strategy Group May 18, 2016	\$	125.00	1	\$	125.00
June Community Brunch Good Life Deli June, 2016	\$	134.16	12	\$	11.18

FCM Conference Winnipeg June 2 - 5, 2016 Flight Hotel	\$ \$	840.12 776.91		\$	1,617.03
ICF Conference Columbus Ohio					
June 14 - 15, 2016	¢	368.50			
Registration Fee Hotel	\$ \$	266.10			
Welcome Reception	\$	134.00		\$	768.95
·					
Meeting Expenses	\$	43.56	7	\$	6.22
Buddy's Roadhouse					
June 16, 2016					
70th USW Local 1005 Anniversary	\$	40.00	2	\$	20.00
Michelangelo Banquet					
July 29, 2016					
Contour box Consequents Day on the	ф	202.00	45	ф	40.47
September Community Brunch Culantro Peruvian Cookery	\$	202.00	15	\$	13.47
September, 2016					
UN Habitat III Summit					
Quito, Ecuador					
October 16 - 21, 2016	•				
Flight	\$	2,314.78			
Hotel Per Diem	\$ \$	94.00 525.00		\$	2,933.78
rei Dieili	Ψ	323.00		φ	2,933.76
October Moon Gala	\$	125.00	1	\$	125.00
Aboriginal Health Centre					
October 21, 2016					
Banff Forum XV					
Montebello, Quebec					
October 27 - 29, 2016					
Registration	\$	1,342.95			
November Community Brunch	\$	439.62	15	\$	29.31
Gage Park Diner					
November, 2016					
Native Women Centre 40th Anniversary Gala	\$	125.00	1	\$	125.00
Hamilton Convention Centre					
November 15, 2016					
Total M Croon				<b>ሱ</b>	6 140 07
Total M. Green				<b>Þ</b>	6,110.87

#### T. Jackson

	Total Expense				roRated xpense
20th Anniversary of the Rev. John C. Holland Awards Michelangelo Banquet February 6, 2016	\$	100.00	1	\$	100.00
31st annual Bishop's Charity Dinner Dance Knights Of Columbus February 13, 2016	\$	60.00	1	\$	60.00
Soupfest Hamilton Convention Centre February 23, 2016	\$	36.00	3	\$	12.00
C. Y. O. Children's Fundraiser Hamilton Convention Centre February 25, 2016	\$	125.00	1	\$	125.00
Jazz Up the Winter Blues Ancaster Mill March 7, 2016	\$	300.00	2	\$	150.00
Women of Distinction Awards Evening Hamilton Convention Centre March 10, 2016	\$	100.00	1	\$	100.00
Meeting Expenses Papa Leos Restaurant April 7, 2016	\$	43.00	3	\$	14.33
Hamilton Admiralty Ball Liuna Station April 23, 2016	\$	100.00	1	\$	100.00
Staff Farewell April 26, 2016	\$	10.00	1	\$	10.00
Paint the Town Red Dr. Bob Kemp Hospice May 4, 2016	\$	150.00	1	\$	150.00
Hamilton Environmentalists of the Year Awards May 24, 2016	\$	35.00	1	\$	35.00
Ticket to Staff Retirement Party Liuna Station June 2, 2016	\$	25.00	1	\$	25.00
40th Annual FestItalia Italian Heritage Awards Michelangelo Banquet June 2, 2016	\$	65.00	1	\$	65.00

Meeting Expenses Honest Lawyer June 15, 2016	\$ 54.51	2	\$ 27.26
The Rock N Ray Michaels 25th Annual Beach Party The Royal Canadian Legion Branch 58 June 18, 2016	\$ 40.00	2	\$ 20.00
Meeting Expenses Romanos August 16, 2016	\$ 73.83	2	\$ 36.92
Meeting Expenses Brown Barrel August 17, 2016	\$ 32.43	2	\$ 16.22
31st Annual BBQ Auction The Rotary Club of Hamilton August 19, 2016	\$ 190.00	2	\$ 95.00
Meeting Expenses Brown Barrel August 24, 2016	\$ 67.43	2	\$ 33.72
Meeting Expenses Barangas August 26, 2016	\$ 58.79	2	\$ 29.40
Sicilia Canta Liuna Station September 30, 2016	\$ 110.00	2	\$ 55.00
19th Annual Wine, Craft Beer & Food Tasting Event Rotary Club of Ancaster September 11, 2016	\$ 220.00	2	\$ 110.00
Meeting Expenses Brown Barrel September 12, 2016	\$ 25.63	2	\$ 12.82
Harvest Dinner 2016 Carmen's Banquet Centre October 13, 2016	\$ 50.00	1	\$ 50.00
Ticket to Staff Retirement Party The Waterfront Banquet October 14, 2016	\$ 30.00	1	\$ 30.00
Ticket to Staff Retirement Party The Waterfront Banquet October 19, 2016	\$ 25.00	1	\$ 25.00

Living Rock Ministries 30th Anniversary Gala Liuna Station October 25, 2016	\$ 130.00	2	\$	65.00
5th Annual 4 Kids Breakfast Gala Michelangelo's Banquet November 4, 2016	\$ 160.00	4	\$	40.00
Dream Beyond the Stars Gala Michelangelo Banquet November 4, 2016	\$ 65.00	1	\$	65.00
14th Annual Vintner's Dinner Hamilton Golf & Country Club November 4, 2016	\$ 350.00	2	\$	175.00
Central Italy Earthquake Relief Fundraiser Michelangelo Banquet November 5, 2016	\$ 260.00	4	\$	65.00
Hamilton Gallery of Distinction Awards The Hamilton Chamber of Commerce November 15, 2016	\$ 97.50	1	\$	97.50
Hamilton Olympic Club 90th Anniversary Gala The Cotton Factory December 28, 2016	\$ 35.00	1	\$	35.00
Total T. Jackson			\$ 2	2,030.14

#### A. Johnson

	E	Total # of  Expense Attendees		ProRated Expense	
Sir John A's birthday Dinner The George Hamilton January 9, 2016	\$	105.00	3	\$	35.00
Westdale Music Parents' Association Spring Fund Raising Dinner March 4, 2016	\$	20.00	1	\$	20.00
CFHS National Animal Welfare Conference Toronto April 16 - 19, 2016					
Registration	\$	221.25		\$	221.25
Hamilton Community Prayer Breakfast Liuna Station May 3, 2016	\$	20.00	1	\$	20.00
Bay Area Economic Summit Hamilton June 21, 2016	\$	197.75	1	\$	197.75
Hamilton Annual Negev Dinner Hamilton Convention Centre June 24, 2016	\$	180.00	2	\$	90.00
City Manager's Breakfast Sheraton Hamilton Hotel October 25, 2016	\$	50.85	1	\$	50.85
Total A. Johnson				\$	634.85

## B. Johnson

	Total Expense	# of Attendees	ProRated Expense
Citizen of the Year Award Dinner Stoney Creek Chamber of Commerce May 10, 2016	\$ 62.15	1	\$ 62.15
International Children's Games in New Taipei			
Taiwan			
July 8 - 16, 2016			
Flight	\$ 1,750.00		
Taxi	\$ 54.35		
Tour	\$ 12.53		
Per Diem	\$ 468.02		\$ 2,284.90
Mileage January to December, 2016			\$ 7,061.76
Total B. Johnson			\$ 9,408.81

## S. Merulla

Total <u>Expense</u>	# of Attendees	ProRated Expense	_
		\$ -	

## J. Partridge

	Total # of Expense Attendees		ProRated Expense	
Women of Distinction Awards Evening Hamilton Convention Centre March 10, 2016	\$ 100.00	1	\$	100.00
Flamborough Outstanding Business Awards African Lion Safari April 1, 2016	\$ 192.10	1	\$	192.10
Masquerade Gala Fundraiser Dundas Valley Golf and Country Club April 15, 2016	\$ 85.00	1	\$	85.00
Mayor's Breakfast 2016 Liana Station April 28, 2016	\$ 56.50	1	\$	56.50
Paint the Town Red Dr. Bob Kemp Hospice May 4, 2016	\$ 150.00	1	\$	150.00
Hamilton Sports Hall of Fame Induction Luncheon The C Hotel by Carmen's October 6, 2016	\$ 25.00	1	\$	25.00
Total J. Partridge			\$	608.60

#### R. Pasuta

	E	Total xpense	# of Attendees	roRated xpense
Meeting Expenses Valley Charcoal Restaurant January 20, 2016	\$	28.69	3	\$ 9.56
ROMA Conference Toronto February 21 - 24, 2016				
Registration  S.H.A.R.E Annual Banquet Copetown Community Centre April 14, 2016	\$	796.65 50.00	1	\$ 796.65 50.00
Mayor's Breakfast 2016 Liuna Station April 28, 2016	\$	56.50	1	\$ 56.50
Paint the Town Red Dr. Bob Kemp Hospice May 4, 2016	\$	150.00	1	\$ 150.00
Feast on the Farm Hamilton May 26, 2016	\$	75.00	1	\$ 75.00
40th Anniversary of Copetown Lions Copetown Community Centre October 15, 2016	\$	50.00	1	\$ 50.00
Mileage January - December, 2016				\$ 2,455.92
Total R. Pasuta				\$ 3,643.63

## M. Pearson

	Total Expense		# of Attendees	ProRated Expense	
Meeting Expenses Innsville February 11, 2016	\$	131.01	4	\$	32.75
Nikola Tesla Educational Corporation Fundraising Gala Winona Vine Estate April 2, 2016	\$	100.00	2	\$	50.00
Staff Retirement Party The Waterfront Banquet April 7, 2016	\$	25.00	1	\$	25.00
Anne Frank Exhibit Canadian Warplane Heritage Museum April 15, 2016	\$	26.00	2	\$	13.00
Meeting Expenses August 8 April 21, 2016	\$	70.12	2	\$	35.06
Staff Retirement Party Brown Barrel Tap and Grill April 29, 2016	\$	20.00	1	\$	20.00
Community Prayer Breakfast Liuna Station May 3, 2016	\$	40.00	2	\$	20.00
Lunch with Staff McDonald's May 4, 2016	\$	16.48	2	\$	8.24
Citizen of the Year Award Dinner Stoney Creek Chamber of Commerce May 10, 2016	\$	124.30	2	\$	62.15
Meeting Expenses Mustang Big Ol'Grill May 13, 2016	\$	84.55	3	\$	28.18
Meeting Expenses Barbara Cafe June 10, 2016	\$	61.96	3	\$	20.65
Meeting Expenses Tim Horton's July 7, 2016	\$	4.07	2	\$	2.04

Winona Peach Festival Ball Winona Vine Estates July 22, 2016	\$ 100.00	2	\$ 50.00
Meeting Expenses Coffee Culture August 26, 2016	\$ 5.90	2	\$ 2.95
Meeting Expenses Starbucks August 26, 2016	\$ 10.50	2	\$ 5.25
Staff Retirement Party The Waterfront Banquet October 19, 2016	\$ 25.00	1	\$ 25.00
Meeting Expenses Modern India Buffet November 7, 2016	\$ 75.45	3	\$ 25.15
Staff Retirement Party The Waterfront Banquet November 16, 2016	\$ 30.00	1	\$ 30.00
Meeting Expenses Tatemono Sushi Bar & Restaurant December 19, 2016	\$ 50.66	2	\$ 25.33
Mileage January - December, 2016			\$ 753.84
Total M. Pearson			\$ 1,234.59

## D. Skelly

	Total Expense		# of Attendees	roRated xpense
Paint the Town Red Dr. Bob Kemp Hospice May 4, 2016	\$	300.00	2	\$ 150.00
Bay Area Economic Summit Hamilton June 21, 2016	\$	197.75	1	\$ 197.75
Cancer Assistance Program Gala Hamilton November 4, 2016	\$	130.00	2	\$ 65.00
Vanier Cup Awards Gala Tim Hortons Field November 26, 2016	\$	300.00	2	\$ 150.00
Total D. Skelly				\$ 562.75

# A. VanderBeek

	Total Expense				roRated xpense
Meeting Expenses Hamilton Chamber of Commerce February, 2016	\$	17.52	1	\$	17.52
15th Annual SJ Villa Gala Liuna Station April 29, 2016	\$	200.00	1	\$	200.00
Total A. Vanderbeek				\$	217.52

#### T. Whitehead

	E	Total # of Expense Attendees		roRated xpense
Paint the Town Red Dr. Bob Kemp Hospice May 4, 2016	\$	150.00	1	\$ 150.00
Winona Peach Festival Ball Winona Vine Estates July 22, 2016	\$	100.00	2	\$ 50.00
8th Annual President's Golf Classic Beverly Golf & Country Club September 22, 2016	\$	350.00	1	\$ 350.00
6th Americas Competitiveness Exchange Toronto				
September 26, 2016 Parking				\$ 20.00
Annual Bocce Dinner Dace Michelangelo's Banquet October 30, 2016	\$	350.00	1	\$ 350.00
Pearl Gala Interval House November 24, 2016	\$	150.00	1	\$ 150.00
Mileage January - December, 2016				\$ 88.88
Total T. Whitehead				\$ 1,158.88